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Answers
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Use multiplication rules to determine the missing remainder for each problem.

1) 23÷5 = 4 r     3      2) 91÷5 = 18 r     1      

3) 8,296÷2 = 4,148 r     0      4) 4,305÷10 = 430 r     5      

5) 67÷10 = 6 r     7      6) 76÷2 = 38 r     0      

7) 627÷2 = 313 r     1      8) 524÷10 = 52 r     4      

9) 9,566÷2 = 4,783 r     0      10) 4,364÷2 = 2,182 r     0      

11) 8,152÷5 = 1,630 r     2      12) 7,473÷5 = 1,494 r     3      

13) 76÷10 = 7 r     6      14) 56÷10 = 5 r     6      

15) 30÷10 = 3 r     0      16) 379÷2 = 189 r     1      

17) 498÷5 = 99 r     3      18) 8,833÷10 = 883 r     3      

19) 83÷5 = 16 r     3      20) 72÷2 = 36 r     0      
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